NAME DATE PERIOD

- 4-4 Study Guide and Intervention
Equations as Relations

Solve Eq uations The equation y = 3x — 4 is an example of an equation in two
variables because it contains two variables, x and y. The solution of an equation in two
variables is an ordered pair of replacements for the variables that results in a true
statement when substituted into the equation.

Exqmp el » Find the solution set for Examp 62 ¥ Solve b = 2a — 1 if
y = —2x — 1, given the replacement set the domain is {—2, —1, 0, 2, 4}.

((=2,3), 0, -1, 4, =2), (3, D). Make a table. The values of a come
Make a table. Substitute the x and y-values of each | from the domain. Substitute each
ordered pair into the equation. value of a into the equation to
determine the corresponding values

b'¢ y y=-2x-1 True or False of b in the range
2| 3 g Z gz(—z) -1 True a 2a—1 b (a, b)
-2 |2(-2)-1|-5|(-2 -5
01| 4 _ | True -1 ]2(-1)—-1|-3](-1,-93
o= _o(1) — 0| 20)—1 | -1] (0, -1
;| o | 2= —2m - False (0) ( )
—2=-3 2| 22 -1 3| (273
3l 1 1 - :3(3) -1 False 4| 2(4) -1 70 4,7

: ) The solution set is {(—2, —5),
The ordered pairs (-2, 3), and (0, —1) result in true | (-1, —3) (0, —1), (2, 3), (4, 7)}.

statements. The solution set is {(—2, 3), (0, —1)}.

Exercises

Find the solution set of each equation, given the replacement set.
Ly =38+ 10,1, (4,2) (-1, -2) -1, -2

2. 3x — 2y = 6;{(—2, 3), (0, 1), (0, —3), (2, 0)}
3.2x =5 —y;{(1, 3),(2,1), (3, 2), (4, 3)}

Solve each equation if the domain is (—4, —2, 0, 2, 4}.
4.x+y=4
S5.y=—4x—6
6.5a — 2b = 10
7.3x — 2y =12
8.6x + 3y = 18
9.4x + 8 =2y
10.x —y =8
11.2x +y = 10
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